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oA W 49 1] 28] 19| 48] 33,300) A0.4] A0.4 1 0 1 1| 6,900 Al4l Al4l 20 5/ 10 5/ 20| 72,300 0.1 0.2 6 5 1 6| 18,400| A0.7) A0.2[ 76 6/ 43| 26| 75| 42,000 A0.3] A0.2
/N /1) 31 7] 19| 5| 31| 28,600 0.0 0.3 - - - - - - - 9 1 7 1 9 59,1000 AO0.1 0.1 1 1 0 1 8,700 0.0 0.0 41 8 27 6/ 41 34,800/ AO0.1 0.2
N F 35/ 7] 10| 18] 35| 32,700/ A0.3] A0.2 1 0 1 15,8000 AL7 AL7[ 13 5 5 3] 13 63,800 0.1 0.1 5 5 0 5/ 14,300 0.0 0.0 54| 12/ 20 22| 54/ 38,000 A0.2] A0.1
2ol 20 0 1 1 2] 12,6000 A0.4] A0.4 - - - - - - - 2 0 0 2 2| 18,900, A0.8] A0.8 - - - - - - - 4 0 1 3 4] 15,700 A0.6] A0.6
T T 300 3 0 3 18100 0.0 0.0 - - - - - - -l 2 1 0 1 2| 38,800 0.0 0.0 - - - - - - - 5 1 3 1 5 26,400 0.0 0.0)
+ Fn m 3] 0 3 0 3| 18,300 0.0 0.0 - - - - - - - 3 0 2 0 2| 25,400 0.0 0.0 - - - - - - - 6 0 5 0 5| 21,900 0.0 0.0
= R i 2000 20 2/ 30,900 0.0 0.0 - - - - - - - 2 1 1 0 2| 38,000 0.1 0.1 - - - - - - - 4 1 3 0 4] 34,400 0.1 0.1
T o 4, 0 2| 2 4] 12,6000 A0.6) A0.6 - - - - - - - 3 1 0 2 3] 26,0000 ALO| A0.9 - - - - - - - 7 1 2 4 7| 18,300/ AO0.7] A0.7
2N DI 5 0/ 0| 5/ 5 7,200 AL7 AL3 - - - - — - - 1 0 0 1 1| 14,500] A2.6] Al4 - - - - — - - 6 0 0 6 6| 8,400 Al8] AlL3
SN T 5/ 0 1 4 5 9,700| AL.0 A0.7 - - - - - - - 2 0 1 1 2/ 19,0000 A0.7| AO0.7 - - - - - - - 7 0 2 5 71 12,300) A0.9] A0.7
m & &t 139/ 15| 69| 54 138 28,700 A0.3 AO0.2 2 0 2 2 6,400 A16| A16| 57 14 26 16/ 56| 56,200 AO0.1 00| 12 11 1 12| 15900, AO04| AO0.1| 210, 29| 106, 73 208/ 35200 AO03| AO0.2
SEON HT 20 0 0 2 2 7,800/ AL.8 Al.3 - - - - - - - 1 0 0 1 1) 17,600 A2.2] ALl7 - - - - - - - 3 0 0 3 3] 11,100 A1.9] Al.4
sh o i W7 200 0 2f 2/ 7,700 A3.0] A3.l - - - - — - - 1 0 0 1 1| 11,800] A3.2] A3.3 - - - - — - - 3 0 0 3 39,1000 A3.1] A3.2
i3 & R AT 2l 0 0 2 2| 12,7000 A1.9] A2.0 - - - - - - - 1 0 0 1 1) 18,900, A2.5] A2.1 - - - - - - - 3 0 0 3 3] 14,700 A2.1] A2.0
gy T 300 2] 1] 3] 9,400 A0.4] A0.4 - - - - — - - - - - - - — - - - - - - — - - 3 0 2 1 39,4000 A0.4] A0.4
K g Wy 3] 0 0 3 3] 10,4000 Al.6] Al6 - - - - - - - 1 0 0 1 1) 14,300 A2.0] A2.1 - - - - - - - 4 0 0 4 4] 11,400 A7) ALT
4 5 A 300 1 2 3 9,200/ A0.8] A0.8 - - - - - - - - - - - - - - - 1 1 0 1 3,500 0.0 0.0 4 0 2 2 4 7,800, A0.6] AO0.6]
ARy 20 0 1 1 2/ 10,900 A0.8) A0.9 - - - - - - - 1 0 0 1 1) 14,300 Al.4] Al4 - - - - - - - 3 0 1 2 3] 12,000/ A1.0] A1.0
oW 2000 0 2f 2/ 9200 ALl All - - - - — - - 1 0 0 1 1| 13,800 Al4] Al4 - - - - — - - 3 0 0 3 3] 10,7000 Al.2] Al.2
95570 Hh my 20 0 0 2 2/ 11,5000 A1.3] AL3 - - - - - - - 1 0 0 1 1) 19,700/ Al1l.5] Al.0 - - - - - - - 3 0 0 3 3] 14,200/ Al1.3] Al.2
+t 7 Hr 200 0] 2| 2 12,0000 Al5 AlL5 - - - - — - - 1 0 0 1 1] 18,500) A2.1] A2.6 - - - - — - - 3 0 0 3 3] 14,2000 AL7] AL9
NP HP 2/ 0] 0] 2| 2/ 8700 ALT Al2 - - - - - - - - - - - - - - - - - - - - - - 2 0 0 2 2| 8,700 ALT7] Al2
#oAb my 30 1] 2] 3] 5700 ALOl ALO - - - - — - - 1 0 0 1 1| 13,100] A2.2| A2.2 - - - - — - - 4 0 1 3 4/ 7,600 AL3| AL3
N TR 20 0 0 2 2 6,100 Al.4l Al5 - - - - - - - 1 0 0 1 1) 10,600 A2.7] A28 - - - - - - - 3 0 0 3 3 7,600, AL8| AlL9
B s T 5/ 3] 2/ 0] 5 11,200 0.0 0.8 - - - - — - - - - - - - — - - - - - - — - - 5 3 2 0 5/ 11,200 0.0 0.8
= 57 HJ 1 0o o 1 1) 16,200 Al.2] Al.2 - - - - - - - 1 0 0 1 1) 19,300/ A1.00 Al.0 - - - - - - - 2 0 0 2 20 17,800) AlL.l] Al.l
ETDE 1) 200 0] 2| 2 11,4000 AL3] AL3 - - - - — - - 1 0 0 1 1| 20,400 Al4] Al4 - - - - — - - 3 0 0 3 3| 14,4000 A1.3] AL3
=i 2l 0 0 2 2/ 10,2000 A1.0, AlL0 - - - - - - - 1 0 0 1 1) 14,000 Al.4] Al4 - - - - - - - 3 0 0 3 3] 11,4000 AlLl] Al.l
R 2000 0] 2| 2/ 9100 ALl Al2 - - - - — - - - - - - - — - - - - - - — - - 2 0 0 2 20 9,100 ALl Al2
BT 1 &8 & 42/ 3| 7 32| 42 9,800, A12| A10 - - - - - - -l 13 0 o 13 13/ 15900/ A19 A19 1 1 0 1 3,500 0.0 00| 56 3 8/ 45 56| 11,100 A13| A1.2
2 it 181 18| 76| 86 180 24,300 AO05 A04 2 0 2 2 6,400 A16| A16| 70 14 26/ 29| 69 48,700] AO05 A03[ 13 12 1 13| 14900, AO04| AO0.1| 266/ 32| 114 118 264 30,1000 AO05| AO0.4




